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ANSWER ANY FIVE FULL QUESTIONS

Marks | CO | RBT

f la | Explain the basic idealizations made in Engineering Mechanics 05 2 L1
' 1b | State and Explain (i) Principle of transmissibility of forces (ii) Principle of | 05 2 L1
L super position of forces

[

2a | State and prove Varignon’s theorem of moments. 05 3 L1
2b | Find the magnitude and direction of the resultant for the concurrent system of | 05 2 L2
forces shown in figure.
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lf 3a | Explain 1. Composition of forces 2.Resolution of forces 3.Resultant of a force | 05 2 L1
system.
l 3p | Four COpIana_r concurrent forces acting at a point are as shown in Figure. One 05 2 L2
i of the forces is unknown and its magnitude is shown by F, the resultant is SOON

: acting along horizontal- axis. Determine the magnitude and direction of force F
| with respect to horizontal axis.

| Find the magnitude, direction and position of the resultant from the point *0” 10 2 L2
i for the system of forces shown in figure,
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5 | Two identical rollers each of weight 500 N rest on an inclined plane which | 10 3 ! L2
makes an angle of 30 0 with the horizontal as shown in figure.. Find the
reactions at all contact points assuming that all surfaces to be smooth,
), "
6 | A string is subjected to the forces 4KN and W as shown in figure. Determine | 10 3 | L2
| the magnitude of W and tensions induced in various parts of the string to keep
the system in equilibrium.
7a | State and prove Lami’s theorem S 2 1
7o | What is free body diagram? Explain with axamplles. s 2 | L
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